

$$(A) \frac{2}{3} + \frac{2}{3} = \frac{4}{3} = 1 \frac{1}{3}$$

$$(B) \frac{1}{5} + \frac{2}{5} + \frac{3}{5} = \frac{6}{5} = 1 \frac{1}{5}$$

LATIHAN TAMBAH PECAHAN → TAK WAJAR → NOMBOR
BERCAMPUR PENYEBUT SAMA

(1) $\frac{1}{4} + \frac{2}{4} + \frac{2}{4} = \text{---} = \text{---}$	(2) $\frac{1}{3} + \frac{2}{3} + \frac{2}{3} = \text{---} = \text{---}$
(3) $\frac{1}{4} + \frac{2}{4} + \frac{3}{4} = \text{---} = \text{---}$	(4) $\frac{3}{5} + \frac{1}{5} + \frac{4}{5} = \text{---} = \text{---}$
(5) $\frac{3}{6} + \frac{5}{6} + \frac{2}{6} = \text{---} = \text{---}$	(6) $\frac{3}{7} + \frac{5}{7} = \text{---} = \text{---}$
(7) $\frac{2}{8} + \frac{4}{8} + \frac{3}{8} = \text{---} = \text{---}$	(8) $\frac{3}{9} + \frac{8}{9} = \text{---} = \text{---}$
(9) $\frac{2}{10} + \frac{6}{10} + \frac{7}{10} = \text{---} = \text{---}$	(10) $\frac{7}{11} + \frac{10}{11} = \text{---} = \text{---}$